Worksheet: Azar: Understanding and Using English Grammar, Chart 19-4


SO versus TOO

These two sentences have almost the same meaning. The grammar pattern is different.


I am so tired that I can’t move. I am too tired to move.

Here are more examples.


This coffee is so hot that I can’t drink it.
This coffee is too hot (for me) to drink.

The suitcase was so heavy that I couldn’t lift it.  The suitcase was too heavy 








(for me) to lift.

A.
Change the following sentences to the “too” pattern.

1.
That car is so expensive that I can’t buy it.


___________________________________________

2.
It is so dark in here that I can’t see.



___________________________________________

3.
This music is so loud that we can’t talk.

(“for  us”)



___________________________________________

B.
Change the following sentences to the “so” pattern.


1.
I was too excited to sleep.



___________________________________________

2.
This movie is too boring to watch.



___________________________________________

3.
His story was too strange for me to believe.



___________________________________________
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